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13. Masoud and his friends built the number 2022 with 66 cubes, as shown in
the picture. They painted the whole surface of the structure vellow. How
many of the cubes have exactly 4 faces painted?
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14. A rectangular-based water tank has dimensions 1m x 2m x 4m. It contains
water to a depth of 25 cm, as shown in the left-hand picture. The tank is
turned so that a 1m x 2m face becomes the base, as shown in the right-hand
picture. What is the depth of the water now?
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1.25m
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15. The picture shows a piece of transparent paper with a design drawn on it.
The paper is then folded twice, as shown. What would be seen on the folded
paper?
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10 cm

16. The area of the square is 100 cm?. What is the area of the shaded figure?
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30 cm? 35 m? 40 m?
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17. The year 2022 is a special year because the digit 2 appears three times.
This is the third time Najeba the tortoise has lived through such a year
with three identical digits. What is the youngest Najeba could be by the
end of 2022?
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18. Bandar wants to complete the picture so that each row, each column
and each set of four circles connected by line segments contains the
four numbers 1, 2, 3, and 4. What number should he write in the circle

containing the question mark?
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